ML 1 BEE (85 5 4 BG) . q,
wWST&m%ﬂmHHm%ﬁ*Tmﬁﬁ(ﬁ% )

afm3 g€£(° 8 & @

,q_\
=
N
oy
E‘T‘j
pyc
mmf
=i

]
prict

REEE TR RN &
SR BT RO%

O LD THRIT O \ITENC R 2 B F 2B U # BE AT AT B4
BianR M eZi oo AT EL B &S A ERE S &R
IEYVBEBRERZIRAZTRBE VW LET,

46, 149 M

2 B4 s R
36,9194

3 PBEEE

—}.sﬁ
T
)
pit]

AR & B Y



©ORIEEE 2 RN (6F 5 4:BAfR)

Hr S AT BT B B &R E N

g}%
e

i

TR B & O B FL R

L i Bh X R

£ 5 # ok M YEEY.
3 A 7,398 [ 7,398 M
4 A%y 7,432 [ 7,432 [
5 F 4 7,640 M 7,640 [
6 A4 7,778 © 7,778 M
7R 7,916 1 7,916 [
8 A% 7,985 4 7,985 [

& 46, 149 [ 46, 149 [ O

2 Al Bl A ZE A
46,149 X 0. 8 =_36,919 [
(408 X B o® = #Hghewm )

(FRHE0 Y 5 0)



IR 1 SR (8 5 &BfR)

0 3 IHATEITRHRB S R (EH5)

&f k®E 3 A3 (H

(Fade) WEEHR

= oa—— p-
aF % ow M kG

<

=il
it
LS

o 5%

DT LT THIEEAT O BTN 6/ D A B8R 31 B L IR AT SR LT Bk
B DR Z T oo THETTERITRITEM&ZHEMRNE S ROR
EW XY BERBEEBRATHRBNZLET,

1 BN ERICET DR
49,909 M

2 Bl sl f A

39, 9271

3 BERERE RlgD &R Y




BIFLE 2 &4k (55 5 &%)

A

TS JT BT R B &R AR E

TBATEHEB & O R AR
1 B SR
ERNP R I
P
9 A4y 8,088 M 8, 088 M
10A% 8, 157 4 8, 157 1
11H% 8,261/P% 8,261 M
g
12H% 8, 364 @ 8, 364 [
— .
1 % 8,433 M 8,433 [
V4
2 734y 8, 606 M 8, 606 [
&= &t 49, 909 [ 49, 909 [
2 W&t EE
49,909 X 0. 8 = 139,927 H
( #BhX S 5H X ffi Bh B = &% )

(FSRWE Y $#5C)




